ASYMPTOTIC APPROXIMATION OF BIDIMENSIONAL MODIFIED GAMMA OPERATORS

AYDIN İZGİ

Department of Mathematics Faculty of Science and Arts Harran University Osmanbey Kampüsü, Ş.Urfa Turkey e-mail: aydinizgi@yahoo.com

Abstract

We present an asymptotic approximation result concerning the order of approximation of bivariate functions by means of the bidimensional operators of the Gamma type operators, which was first given in [1] for one variable functions and later was given for two variables function in [2].

1. Introduction

The aim of this present article is to give an asymptotic approximation of bivariate functions, which have second partial derivatives and mixt partial derivatives by means of bidimensional operators of the Gamma type operators.

Keywords and phrases: Gamma operators, asymptotic approximation.

Received April 10, 2012

© 2012 Scientific Advances Publishers

²⁰¹⁰ Mathematics Subject Classification: 41A58, 41A45, 41A63.

Izgi and Büyükyazıcı [1] gave the following operators:

$$A_n(f; x) = \int_0^\infty K_n(x, t) f(t) dt,$$

where $K_n(x, t) = \frac{(2n+3)! x^{n+3}}{n! (n+2)!} \times \frac{t^n}{(x+t)^{2n+4}}$. For the process of these

operators, see [9], [10], and [1], respectively.

These operators preserve x^2 , which has better approximation than which does not preserve x^2 , as it was shown by King in [8] for the Bernstein polynomials.

It was studied rate of convergence of these operators for functions with derivatives of bounded variation in [5] and also it was studied the rate of pointwise convergence of these operators on the set of functions with bounded variation in [6]. Also, it was studied direct local and global approximation results for these operators in [7]. The present author studied these operators for Voronovskaya type asymptotic approximation in [4], also studied these operators for L^p -integrable functions in [3], and studied these operators for bivariate functions in the weighted spaces with the following operators in [2]:

$$A_{n,m}(f(u, v); x, y) = \int_{0}^{\infty} \int_{0}^{\infty} K_n(x, u) K_m(y, v) f(u, v) du dv.$$
(1)

Lemma 1 ([2]).

$$A_{n,m}(1; x, y) = 1; (2)$$

$$A_{n,m}(u+v; x, y) = x + y - \frac{x}{(n+2)} - \frac{y}{(m+2)};$$
(3)

$$A_{n,m}(u^2 + v^2; x, y) = x^2 + y^2;$$
(4)

$$A_{n,m}(u^3 + v^3; x) = x^3 + y^3 + \frac{3}{n}x^3 + \frac{3}{m}y^3;$$
(5)

$$A_{n,m}(t^{4} + u^{4}; x) = x^{4} + y^{4} + \frac{4(2n+3)}{n(n-1)}x^{4} + \frac{4(2m+3)}{m(m-1)}y^{4},$$

$$n > 1, m > 1;$$
 (6)

$$A_{n,m}(\{u+v\}-\{x+y\}; x, y) = -\frac{x}{(n+2)} - \frac{y}{(m+2)};$$
(7)

$$A_{n,m}(\{(u-x)^2 + (v-y)^2\}; x, y) = \frac{2x^2}{(n+2)} + \frac{2y^2}{(m+2)};$$
(8)

$$A_{n,m}(\{(u-x)^{4} + (v-y)^{4}\}; x, y) = \frac{12(n+4)}{(n+2)n(n-1)}x^{4} + \frac{12(m+4)}{(m+2)m(m-1)}y^{4},$$
$$n > 1, m > 1.$$
(9)

2. Main Result

Let D_{AB} shows $(0, A] \times (0, B]$, where A > 0 and B > 0. Let $C^{r}(D_{AB})$ shows the continuous functions on D_{AB} , which have r-th (r = 0, 1, 2, ...) partial derivatives and mixt partial derivatives. And define

$$e_{ij} := e_{ij}(x, y) = x^i y^j,$$

 $E_{ij} := E_{ij}(u - x, v - y) = (u - x)^i (v - y)^j, \quad (i, j = 0, 1, 2, ...).$

In this study, we aim to give an asymptotic approximation for the (1), where m = n. Mean for the following operators:

$$A_{n}(f(u, v); x, y) \coloneqq A_{n,n}(f(u, v); x, y)$$
$$= \int_{0}^{\infty} \int_{0}^{\infty} K_{n}(x, u) K_{n}(y, v) f(u, v) du dv.$$
(10)

Theorem 1. If $f \in C^2(D_{AB})$, then we have

$$\begin{split} \lim_{n \to \infty} (n+2) \left[A_n(f(u, v); x, y) - f(x, y) \right] &= -x \frac{\partial}{\partial x} f(x, y) - y \frac{\partial}{\partial y} f(x, y) \\ &+ x^2 \frac{\partial^2}{\partial x^2} f(x, y) + y^2 \frac{\partial^2}{\partial y^2} f(x, y). \end{split}$$

Proof. Using the corresponding Taylor series, then we have

$$\begin{split} f(u,v) \\ &= f(x, y) + \left[(u-x)\frac{\partial}{\partial x}f(x, y) + (v-y)\frac{\partial}{\partial y}f(x, y) \right] \\ &+ \frac{1}{2!} \left[(u-x)^2 \frac{\partial^2}{\partial x^2}f(x, y) + (u-x)(v-y) \left(\frac{\partial^2}{\partial x \partial y}f(x, y) + \frac{\partial^2}{\partial y \partial x}f(x, y) \right) \right. \\ &+ (v-y)^2 \frac{\partial^2}{\partial y^2}f(x, y) \right] + (u-x)^2 \varepsilon_1 (u-x) + (v-y)^2 \varepsilon_2 (v-y) \\ &+ (u-x)(v-y) \varepsilon_3 (u-x, v-y), \end{split}$$

where the mappings $\varepsilon_i(i = 1, 2, 3)$ are bounded and $\lim_{h \to 0} \varepsilon_1(h) = \lim_{h \to 0} \varepsilon_2(h)$ = 0 and $\lim_{\substack{h_1 \to 0 \\ h_2 \to 0}} \varepsilon_3(h_1, h_2) = 0.$

Now, we have the following inequality because of (10):

$$\begin{split} A_n(f(u, v); x, y) &- f(x, y) \\ &= A_n(E_{10}; x, y) \frac{\partial}{\partial x} f(x, y) + A_n(E_{01}; x, y) \frac{\partial}{\partial y} f(x, y) \\ &+ \frac{1}{2} A_n(E_{20}; x, y) \frac{\partial^2}{\partial x^2} f(x, y) + \frac{1}{2} A_n(E_{02}; x, y) \frac{\partial^2}{\partial y^2} f(x, y) \\ &+ \frac{1}{2} A_n(E_{11}; x, y) \left\{ \frac{\partial^2 f(x, y)}{\partial x \partial y} + \frac{\partial^2 f(x, y)}{\partial y \partial x} \right\} + R_n(f; x, y), \end{split}$$

where

$$\begin{aligned} R_n(f; x, y) &= A_n(\varepsilon_1(u-x)E_{20}; x, y) + A_n(\varepsilon_2(v-y)E_{02}; x, y) \\ &+ A_n(\varepsilon_3(u-x, v-y)E_{10}E_{01}; x, y). \end{aligned}$$

Using Lemma 1, we get

$$\begin{aligned} A_n(f(u, v); x, y) - f(x, y) &= -\frac{x}{(n+2)} \frac{\partial}{\partial x} f(x, y) - \frac{y}{(n+2)} \frac{\partial}{\partial y} f(x, y) \\ &+ \frac{x^2}{(n+2)} \frac{\partial^2}{\partial x^2} f(x, y) + \frac{y^2}{(n+2)} \frac{\partial^2}{\partial y^2} f(x, y) \\ &+ \frac{1}{2} \frac{xy}{(n+2)^2} \left\{ \frac{\partial^2 f(x, y)}{\partial x \partial y} + \frac{\partial^2 f(x, y)}{\partial y \partial x} \right\} + R_n(f; x, y); \end{aligned}$$

and also we have

(n+2) { $A_n(f(u, v); x, y) - f(x, y)$ }

$$= -x \frac{\partial}{\partial x} f(x, y) - y \frac{\partial}{\partial y} f(x, y) + x^2 \frac{\partial^2}{\partial x^2} f(x, y)$$
$$+ y^2 \frac{\partial^2}{\partial y^2} f(x, y) + \frac{1}{2} \frac{xy}{(n+2)} \left\{ \frac{\partial^2 f(x, y)}{\partial x \partial y} + \frac{\partial^2 f(x, y)}{\partial y \partial x} \right\}$$
$$+ (n+2)R_n(f; x, y).$$

It is obvious that

 $\lim_{n\to\infty} \frac{1}{2} \frac{xy}{(n+2)} \left\{ \frac{\partial^2 f(x, y)}{\partial x \partial y} + \frac{\partial^2 f(x, y)}{\partial y \partial x} \right\} = 0 \text{ for } (x, y) \in D_{AB}. \text{ Now, we need}$ to prove $\lim_{n\to\infty} (n+2)R_n(f; x, y) = 0 \text{ to complete the proof.}$

Define

$$N_1 = \{(x, u) \in N : |u - x| < \delta\}, \quad N_2 = \{(x, u) \in N : |u - x| \ge \delta\},\$$

 $M_1 = \{(v, y) \in M : |v - y| < \delta\}, \text{ and finally, } M_2 = \{(v, y) \in M : |v - y| \ge \delta\},$ where $N = (0, A] \times (0, \infty)$ and $M = (0, \infty) \times (0, B].$

AYDIN İZGİ

Now get $\varepsilon > 0$. Since $\lim_{h \to 0} \varepsilon_i(h) = 0$, there is $\delta_i > 0$ (i = 1, 2) such that for each $|h| < \delta_i$, $|\varepsilon_i(h)| < \varepsilon$ hold. Besides, since $\lim_{\substack{h_1 \to 0 \\ h_2 \to 0}} \varepsilon_3(h_1, h_2) = 0$,

then there is $\delta_3 > 0$ such that for each $\sqrt{h^2 + k^2} < \delta_3$, $|\varepsilon_3(h, k)| < \varepsilon$ hold. Choose $\delta = \max\{\delta_1, \delta_2, \delta_3\}$, then we have $|\varepsilon_i(h)| < \varepsilon(i = 1, 2)$, for each $|h| < \delta$ and $|\varepsilon_3(h, k)| < \varepsilon$, where $\sqrt{h^2 + k^2} < \sqrt{2}\delta$. Then if $(\alpha_1, \beta_1) \in N_2$, $(\alpha_2, \beta_2) \in M_2$, then, we have

$$\begin{split} &|\varepsilon_1(\beta_1 - \alpha_1)| \leq \sup_{(\alpha_1, \beta_1) \in N_2} |\varepsilon_1(\beta_1 - \alpha_1)| = \|\varepsilon_1\|_{\infty}, \\ &|\varepsilon_2(\beta_2 - \alpha_2)| \leq \sup_{(\alpha_2, \beta_2) \in M_2} |\varepsilon_2(\beta_2 - \alpha_2)| = \|\varepsilon_2\|_{\infty}, \end{split}$$

and

$$|arepsilon_3(eta_1-lpha_1,\,eta_2-lpha_2)|\leq \sup_{\substack{(lpha_1,eta_1)\in N_2\ (lpha_2,eta_2)\in M_2}}|arepsilon_3|=\|arepsilon_3\|_\infty.$$

$$\begin{split} |h| &\geq \delta \text{ implies } \left(\frac{h}{\delta}\right)^2 \geq 1 \text{ and that implies } h^2 \leq \frac{h^4}{\delta^2} \text{ and also } |h| \geq \delta, |k| \geq \delta \\ \text{implies } \frac{|h|}{\delta} \geq 1 \text{ and } \frac{|k|}{\delta} \geq 1 \text{ and that implies } |hk| \leq \frac{h^2 k^2}{\delta^2}. \text{ Then, we have} \\ |A_n(\varepsilon_1(u-x)E_{20}; x, y)| &= |A_n(\varepsilon_1(u-x)E_{20}; x, y)|_{|u-x| < \delta} \\ &+ |A_n(\varepsilon_1(u-x)E_{20}; x, y)|_{|u-x| \geq \delta} \\ &< \varepsilon \frac{2x^2}{(n+2)} + \frac{\|\varepsilon_1\|_{\infty}}{\delta^2} \left|A_n((u-x)^4; x, y)\right| \\ &< \varepsilon \frac{2A^2}{(n+2)} + \frac{\|\varepsilon_1\|_{\infty}}{\delta^2} \frac{12(n+4)}{(n+2)n(n-1)} a^4, \end{split}$$

for $(x, y) \in D_{AB}$. Similarly,

$$|A_n(\varepsilon_2(v-y)E_{02}; x, y)| < \varepsilon \frac{2B^2}{(n+2)} + \frac{\|\varepsilon_2\|_{\infty}}{\delta^2} \frac{12(n+4)}{(n+2)n(n-1)}b^4,$$

 $\quad \text{and} \quad$

$$|A_n(\varepsilon_3(u-x, v-y)E_{10}E_{01}; x, y)| < |A_n(\varepsilon_3(u-x, v-y)E_{10}E_{01}; x, y)|_{\substack{|u-x| < \delta \\ |v-y| < \delta}}$$

$$+ |A_n(\varepsilon_3(u-x, v-y)E_{10}E_{01}; x, y)|_{\substack{|u-x| \ge \delta \\ |v-y| \ge \delta}}$$

$$< \varepsilon \frac{xy}{(n+2)^2} + \frac{\|\varepsilon_3\|_{\infty}}{\delta^2} \frac{2x^2}{(n+2)} \frac{2y^2}{(n+2)}$$
$$< \varepsilon \frac{AB}{(n+2)^2} + \frac{\|\varepsilon_3\|_{\infty}}{\delta^2} \frac{2A^2}{(n+2)} \frac{2B^2}{(n+2)}.$$

Now, we can estimate $(n+2)R_n(f; x, y)$ for $n \to \infty$.

$$\begin{split} |(n+2)R_n(f;\,x,\,y)| &< 2A^2\varepsilon + \frac{\|\varepsilon_1\|_{\infty}}{\delta^2} \frac{12(n+4)}{(n+2)n(n-1)} A^4 \\ &+ 2B^2\varepsilon + \frac{\|\varepsilon_2\|_{\infty}}{\delta^2} \frac{12(n+4)}{(n+2)n(n-1)} B^4 \\ &+ \frac{AB}{(n+2)}\varepsilon + \frac{\|\varepsilon_3\|_{\infty}}{\delta^2} \frac{4A^2B^2}{(n+2)}. \end{split}$$

That means

$$\lim_{n \to \infty} (n+2)R_n(f; x, y) = 0.$$

Then the proof is completed.

Note that; if we examine (1) instead of (10) in the Theorem 1, we will get the following inequality:

 $\lim_{n \to \infty} \min \{ (n+2), (m+2) \} [A_{n,m}(f(u, v); x, y) - f(x, y)]$

$$\leq -x \frac{\partial}{\partial x} f(x, y) - y \frac{\partial}{\partial y} f(x, y) + x^2 \frac{\partial^2}{\partial x^2} f(x, y)$$
$$+ y^2 \frac{\partial^2}{\partial y^2} f(x, y).$$

Example 1. Consider $f(x, y) = (xy)^4$. Then $\frac{\partial f(x, y)}{\partial x} = 4x^3y^4$,

$$\begin{aligned} \frac{\partial f(x, y)}{\partial y} &= 4x^4 y^3, \quad \frac{\partial^2 f(x, y)}{\partial x^2} = 12x^2 y^4, \quad \frac{\partial^2 f(x, y)}{\partial y^2} = 12x^4 y^2. \\ &- x \frac{\partial}{\partial x} f(x, y) - y \frac{\partial}{\partial y} f(x, y) + x^2 \frac{\partial^2}{\partial x^2} f(x, y) + y^2 \frac{\partial^2}{\partial y^2} f(x, y) \\ &= -4x^4 y^4 - 4x^4 y^4 + 12x^4 y^4 + 12x^4 y^4 = 16x^4 y^4; \\ &A_n((uv)^4; x, y) = \left(x^4 + \frac{4(2n+3)}{n(n-1)}x^4\right) \left(y^4 + \frac{4(2n+3)}{n(n-1)}y^4\right) \\ &= (xy)^4 \left(1 + \frac{4(2n+3)}{n(n-1)}\right)^2; \end{aligned}$$

 $(n+2)\Big|A_n((uv)^4; x, y) - (xy)^4\Big|$

$$= (xy)^4 (n+2) \left[\left(1 + \frac{4(2n+3)}{n(n-1)} \right)^2 - 1 \right]$$
$$= (xy)^4 \left[\frac{8(2n+3)(n+2)}{n(n-1)} + (n+2) \frac{4(2n+3)^2}{n^2(n-1)^2} \right].$$

Take $\lim_{n \to \infty}$ on both side in the last equality, we get

$$\lim_{n \to \infty} (n+2) \left| A_n((uv)^4; x, y) - (xy)^4 \right| = 16x^4 y^4.$$

References

- A. Izgi and I. Buyukyazici, Approximation in boundless interval and order of approximation (in Turkish), Kastamonu Eğitim Dergisi, Cilt II(2) (2003), 451-456.
- [2] A. Izgi, Order of approximation of functions of two variables by new type Gamma operators, General Mathematics 17(1) (2009), 23-32.
- [3] A. Izgi, Approximation to L^p-integrable functions by Gamma type operators, J. Anal. Comput. 7(2) (2011), 113-124.
- [4] A. Izgi, Voronovskaya type asymptotic approximation by modified Gamma operators, Applied Mathematics and Computation 217 (2011), 8061-8067.
- [5] H. Karsli, Rate of convergence of new Gamma type operators for functions with derivatives of bounded variation, Mathematical and Computer Modelling 45 (2007), 617-624.
- [6] H. Karsh, V. Gupta and A. İzgi, Rate of pointwise convergence of a new kind of Gamma operators for functions of bounded variation, Applied Mathematics Letters 22(4) (2009), 505-510.
- [7] H. Karslı and M. A. Özarslan, Direct local and global approximation results for operators of Gamma type, Hacettepe Journal of Mathematics and Statistics 39(2) (2010), 241 253.
- [8] J. P. King, Positive linear operators which preserve x^2 , Acta Math. Hungar. 99(3) (2003), 203-208.
- [9] A. Lupas and M. Muller, Approximation seigenschaften der Gamma operatören (in German), Math. Zeit. 98 (1967), 208-226.
- [10] S. M. Mazhar, Approximation by positive operators on infinitenfinite intervals, Vol. 5, Fas. 2 (1991), 99-104.